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More Conditional Statements
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v =2, Y75,
" Recap C++ If/Else.

(x>y){)

std::cout << “X is greater than Y\n”;

]
%sg'f(x<y

) { |
std::cout << “X is less than Y\n”;
\ |
e {

std::cout << “X is equal to Y\n”;

}
3

.




Extra Credit Exercise #3...

* Getinto groups 4-5, and everyone write down
your hame on one piece of paper.

* Tell me what this program does...
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#include <iostream>
using namespace std;

int main() {
int result, age=64;

result=(++age)++; //++ age 1lst, assign to result, then ++ age again
cout << result << endl; //result 65
cout << age << endl; //age 66, age++ 1s age=age+l

Do~ & WK

result = age--;
cout << result << endl; //result 66
Icout << age << endl; //age is 65
if(age >= 65) {
cout << "You are a senior citizen!!!" << endl;
}
else {
cout << "You haven't become senior status yet!" << endl;

}

23 return 0;
24 }




What are the curly braces for?

if( x >v)

std::cout << “X is greater than Y\n”; A
== if apotle CoMt WOS ¢ ML Lo
else if( x <vy) !

std::cout << “Xis less than Y\n”; YO‘“ m’\m)i
\V\O\\IQ« S\OA—(W\U/\j

AT |

Coﬂ‘?“\f’ |

else \ H/\a;\— are f\b’\'
std::cout << “X is equal to Y\n”; ot OF 1

; \n” \‘:S \pe hoeen &

f arad @\SUP
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What if we are testing for ==7

|f(x@K_\\Oﬁ caceh) ¢ don’t ux = s

std::cout << “X is zero\n”;

}
else if( x ==1) {

std::cout << “X is one\n”;
}
else if( x == 2) {

std::cout << “X is two\n”;
}
else {

std::cout << “You have entered an invalid number!!!\n”;

)
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#include <iostream>
using namespace std;

int main() {
int result, age=64;

result=(++age)++; //++ age 1lst, assign to result, then ++ age again
cout << result << endl; //result 65
cout << age << endl; //age 66, age++ 1s age=age+l

OO0 EWN =

result = age--;
cout << result << endl; //result 66
cout << age << endl; //age is 65

//This will assign age 1 and then fetch the value in age, which 1is
//always true!l!! This will always print hello, not check if age is 1!|j
if(age=1)

cout << "hello" << endl;

if(age »>= 65) {
cout << "You are a senior citizen!!!" << endl;
}
else {
cout << "You haven't become senior status yet!" << endl;

}

28 return 0;
29 }

-- INSERT --

-- INSERT --
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#include <iostream>
using namespace std;

int main() {
int result, age=64;

result=(++age)++; //++ age 1lst, assign to result, then ++ age again
cout << result << endl; //result 65
cout << age << endl; //age 66, age++ is age=age+l

OO~ WwN =

result = age--;
cout << result << endl; //result 66
cout << age << endl; //age 1is 65

//This will assign age 0 and then fetch the value in age, which 1is
//always false!!l This will NEVER print hello, not check if age is Of]
if(age=0)

cout << "hello" << endl;

if(age >= 65) {
cout << "You are a senior citizen!!!" << endl;
}
else {
cout << "You haven't become senior status yet!" << endl;

}

28 return 0;
29 }

-- INSERT --

- - INSERT --




We can use a switch...
switch( <expression> ) { Ay\\/\/\,\m? \/(M C an 020

case <const-expr>: o a wuo i CQ,\/ oV~
<statement>; Can do Lot \f/e\ﬁz/
NOT evarltb\\ /2:) \/ov\ CaNn
case <const-expr>: o Lol ' /e\%cc«\
<statement>; \{0\/\ do bD\\/\,?
default: |
<statement>;
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C++ Switch Example ;
switch(ﬁ \\I\O\S f\‘o \06 \'Y\H,o«\jlslf\o(*} cnaf

case O: oY oo {
std::cout <<“X is zero\n”:
break;
case 1:
std::cout <<“X is one\n”:
break;
case 2:
std::cout <<“X is two\n”:
break;
default:
std::cout <<“You have entered an invalid number!!!\n”;

}
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C++ Switch Example
\/(: (X::O \ X == \\

switch( x ) {
case O: \)WS %O\\/S
case 1:
std::cout << “X'is zero or one\n”;
break;
case 2:
std::cout << “X is two\n”;
break;
default:
std::cout << “You have entered an invalid number!!!\n”;

}
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#include <iostream>
using namespace std;

int main() {
int x;
cout << "enter 0, 1, or 2: ";
cin >> X;

OO0 EWN =

//Without a break, then after the match to the case occurs, then all
//other lines are executed until a break is encountered or the end of
//the switch 1s encountered.
switch(x) {
case 0:
case 1:
cout << "X is zero or one" << endl;
case 2:
cout << "X is two" << endl;
default:
cout << "You entered something invalid" << endl;

}

return 0;

-- INSERT --
-- INSERT --




